f@ﬁ]ﬁf 6&*@:}%651115&& 1 EH &5y 1 —kUﬂv#—“ﬁi?f‘Lvéﬁi

—~EHEA: (FHAL S K60 4)
( 01 ~*a:b=3:5>a:c=7:3> Rla:b:c =72
(A) 21:35:9 (B) 21:9:15 (C) 21:15:9 (D) 21:9:35 -
( )02~ & Fexiyiz=7:4:5> Fx =21 RPlx+y+z=2(A) 16 (B) 32 (C) 48 (D) 56 -
( )03‘%%%:%:%’}_’3x+2y—52=80’ BlyenE % @ 2 (A) 20 (B) 30 (C) 45 (D) 50 -
( )04-AABCY AB=3'BC=4 AC=6> " = §EHperB A% 5a~b~c Plabic=?
(A) 2:3:4 (B) 4:3:2 (C) 3:4:6 (D) 6:4:3 -

( )05 ~ Fa:b:c=6:3:2 RIT Pt 7 K 4530

(A) —=—=— (B) 6a=3b=2c (C) 2b=3c '3c=a (D) a:6=b:3=c:2
A
A A
FE D
B D C B D C B C
®m(1) ®(2) I6))

( )06~4®() D-&BC} P®AAD} » * BD:CD =3:2 > AP:DP =5:3 > #AABCw # &
120 > 24 > BIAAPBw #f 5 5 T > o4 2 (A) 55 (B) 50 (C) 45 (D) 40 -
( )07 ~ 4@ (2) » AABC? » AE =324 »CE=CD =624 >BD =1024 > #AEDCw #

10 X3 24> BIAABCw # 5 5 T > 2&2(4) 30 (B) 36 (C) 40 (D) 44 -

( )08 ~ &AABC® > D,E 2 % 5 AB ~ AC} » T #|9R— b b = &2 78 ¥ DE//BC ?
(A) AD:DB = AE:EC (B) AD:AB = AE: AC
(C) AB:DB = AC:EC (D) AE:AC = DE:BC

( )09 ~ 4Bl (3) » AABC? > 2C =+2ABD »AD=4>CD =5’ B|AB =7
(A6 B) 7)) 8M 9-
( )10 ~ 2AABC¥: ADEF® > %£4A = 24D > B 7|vR— i 4cik & 7% 2P AABC~ADEF ?

(A) 2B =¢E (B) «C =«F (C) AB:DE = AC: (D) AB:DE = BC:EF -

=



( )11 ~ % 3x:2y:z=1:2:3> Plxiy:z=7 (A) 1:3:3 (B) 1:3:6 (C) 2:3:6 (D) 1:3:9-

( )2~ ZH)w T Enjfa—%.u.\;;}fg MUBE 4 Q

() T3 BE &= &7 (z) T3 BEE= &7
(F) Exa B = &3 (7) ZXA BEEE &= &7

(D) ("HCHEHCT ) B &E(*H(T) (O &ECeH(F) (D) E(REHC)

A A

E D E D F
P
_
B

w(4) w() #(6)

Lo

( )13~ 4B (4) » AABC»D~E A~ % a2AB~ACY » #AD=3BD=3>AE=2>EC=7> R~ 5@
iﬁﬁfﬁi‘? (A) 2AED = £ABC (B) 2AED = £ACB (C) 2ADE > £ABC (D) 2ADE > £ACB -
( M4~k A~B~C= BRI enE jivt 2 2:3:5 > BIAABC= BRI en £ 5 @ ?
(A) 2:3:5 (B) 5:3:2 (C) 2:5:3 (D) 4:9:25 -
( )15 ~ 4B (5) » AABC? »D~E A% 2AB-~AC? 8> * P~Q A% 3DB~EC® 8> %50 =10"

FPS=? (A) 10 (B) 8 (C) 5 (D) 7~

AR (FRIA 2 304)

Iy

l. #x~y~2z35% 50> 23x—4z=0>2y—-5z2=0> Rlx:y:z= @

2. #2a=4b=3cfa~b~c3¥3% 52 0> P(a—b):(a—c):(c—b) = @

3. 4r®(6) > 2#AABC® > ¢ wAB=9>BC=10>AC=11>* D~E~F= 242 % XAB -~ BC ~ AC:n

¢ 8L BIADEF % £ 3 ®




fkﬁ]ﬁfﬂﬁiﬁ]%“ﬁlll;‘?ﬁ)i 1 EH &5y 1 —xiﬁh‘é—“ﬁtﬁvfﬂéi{

A
] D/ L A P
E . u 5 F
,./ N y
C 1
/ B ¢Cc B D E C # F
#(7) #(8) w(9) W10
4. 4c®(7) > L//M//N > ¥DE =12 > EF =8> BC = 6 > R|AB= @ °

5. 4rB(8) » AABC® > D~E~ % 3AB~AC}Y » 279 LADE = £ACB=90°>DE =3>BC =6"

AE =5 £CE = ® °

6. 4-B(9) » AABC® > #BAB:1T— ¥ RLT (FBC » PALY — B> D ~Ea 8.2 £ 2BC > * AABCw # %

36 T > =& > RIAPDC % fi & ® TN o
7. 4B (10) » AABC? » w 1§45 ADEF % $2;» ¢ =wAD:BD =5:3» #CF =30 R|BD = @ o
4 10
p A
B D
B c ¢ E
wm(11) w(12) ®(13)

8. 4r@(11) “AABC® > DE%AB} » 2AD =6 > AB =20

RIAACD4-ABCD i 4 % .

9. 4+®(12) » AOCE*® > AD//BE » BD//CE » #0A=4-0C =9 P|OB = ©) °

10. 4c®(13) D ~Ed 2.3-AB= %4~ >F~G~H ~ v B3-ACT %~ >

RIAABC % ## : Q’:Ef’fDEIGm %=

SR (FREIA R0 REERE I ITE > J PR BA)
3



A

oy
&=
Q

2. 4cBl 0 T 7w ¥, ABCD ¥ » CD¥# BF eht £ 5 2 »YE8L » © 2AF = 3DF » 3# R ¢
® BG:FG =7 (2 4)

@ $EF=6-RIFG=7? (3 ~)




ﬂ[?]’r‘r*“&’ﬁ]%v’ﬁllliﬁli 18 9Enyl —xiﬁhpﬂtﬁﬁ‘éi{
S T P & A
-~ EBHE(F3H4AL5 5 2604)
35 1 2 3 4 5 7 10
L5 11 12 13 14 15
R
S BARI(ERIACEINAEEFR2Im]LA)
. © @ © ®
T 5
. ® @ ©)
T 5
Z 2t Eg i (EfEH A £ 101},;%’&‘5’3-’5_} % 3 EER] LA)
1. D~En g4 % %2AB ~BC} » ¥AD:DB = CE:EB = 2:3 > RIADBE2 AADC o v 5 0 2
A
D
B E C
2. 4rBl > T 7w #25ABCD ¥ » CD¥r BFehat £ 23t EQL » ¥ 2AF = 3DF » 3R .
- E
®OBG:FG =7 A ﬂ
F
- —— D
@ £EF =6 RIFG =72
B C



